Air Cylinder

CJ2 Series
26, 210, 16

Double foot = Head flange
Double-side bossed are

added to the e _
mounting types. . g _ \@
é]lj)? types fgj‘@\ _ | 3 Head cover =
27 Bltypes/=16]types N tez
Improved amountof ,.~ >~ M
mounting freedom 'Y < LR & L
5 > 4 MB1
Head cove Ay , § G
boss i - i\ i |
cs1
( _ _ ( _ €S2
Easy fine adjustment Head cover port location *
of auto switch position “Perpendicular to axis”
Fine adjustment of the auto switch position is possible by is newly added to ¢6.
simply loosening the screw attached to the auto switch. Improved piping flexibility
Transparent switch bracket improves
visibility of indicator LED.
C Fine adjustment of auto switch)
D-0J

-XOJ

Technical
Data




Air Cylinder

D: Double clevis
(Except 26)

Double clevis
(With one-touch connecting pin)

Rod end nut
(Accessory)

Mounting nut
(Accessory)

U: Rod end cap
(Round type

M: Double foot

T: Rod end cap

(Flat type) ‘

V: Single knuckle joi

nt
(Except 26) (’

. . Mounting nut
W: Double knuckle joint (Accessory) . . . .
(Except 26) Mounting brackets, accessories, and nut material: Stainless steel

The following accessories need to be prepared separately. (Please order separately.)
Refer to the “Accessories” page of each series for details.

M: Double foot

Double knuckle joint Boresize | o o Flange | Sinde Double |Mounting| Rod |Accessories
(With one-touch connecting pin) [mm] 9€ | knuckle joint | knuckle joint nut end nut page
10, 16 o* o* o @) o* ©) p. 63-1

=: Except bore size 10.

Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

Example) CDJ2D16-50Z- -|N- W -Mm9BW-B

5 4 \ N
Pivot bracket N: Kit of pivot bracket | LalJSKGCRIETE G (With rod end bracket Rod end cap

Nil | None and double clevis Nil | None V: Single knuckle T: Flat type g
\-

Pivot bracket is shipped
U: Round type

V | Single knuckle joint
W | Double knuckle joint
T Rod end cap (Flat type)

U | Rod end cap (Round type)
=1 V/W: 10 and @16 only

N\ J \,_‘ J

N together with the
product, but not
assembled.

=: Only for the double clevis type
(210 and 216)

W: Double knuckle

Refer to page 151-1 for the part number Refer to page 63 for the double knuckle joint
(-X2838) of the double clevis (with one-touch connecting pin).
(with one-touch connecting pin). : S

® 42




General purpose type

Solid state auto switch

2-color indicator

Water resistant

D-M9J

Reed state auto switch

CJ2 Series

D-A9]
CJ1
In-line electrical entry Perpendicular electrical entry Rail mounting = —CJT
(210,216) ga.. =
- ’ - Ny
2 e Do
il Jcm
- CM2
Stroke Variations —
= X Standard stroke CM3
ore size [mm] 15 30 45 60 75 100 125 150 175 200 | ———
e c61
10 3 ? z : CG3
16 ; * ¢ o D T
Series Variations MB
Series Action Tvoe Bore size [mm] Variations Page L
' yP 6 10 16 Built-in magnet  Air cushion 9 MB1
Standard Double |« ; ' |
CJ2-Z / acting | Single rod Q Q Q Q Q : 46 CA2
= Double
e - w6 o o 9+ o | s
> . Single rod
Single ; CSZ
== ; (Spring return 7
acting Jextend) 0 0‘ Q‘ Q‘ ——
Non-rotating rod 5 Y l Double | «.
CJ2K-Z ﬁ acting Single rod < - - 88
] Single rod
Single ;
; (Spring return 95
acting | extond) 0 ‘ Q
Built-in speed controller Double 4.
CJ2z-z |, acting Single rod 0 Q Q 107
Double
acting  Double rod < - 7 114
Direct mount Double Sinale rod 119
CJ2R-Z acting M9 Q Q Q
) Single rod
Single (Spri
; pring return 123
acting Jextend) 0 * Q
Direct mount, : - Doubl A
Non-rotating rod s agtuinge Single rod 0 q Q‘ 127
CJ2RK-Z ’ .
= . Single rod
Single :
; : (Spring return 130
acting Jextend) 0 0 Q
With end lock Double 4.
CBJ2 acting il o Q Q 134
Smooth Cylinder Double ' w. Best Pneumatics | ——
CJ2y-z acting Single rod ‘ Q Q No. 2-3 D-OJ
Low Speed Cylinder " Double| . Best Pneumatics
CJ2Xx-z acting Single rod 0 ‘ Q No. 2-3 -XOJ
*: The air cylinder with end lock has the same shape as the current product. Technical
«: Air cushion is only available for 610 and @16. Data
43 ®

O
3



SO NIENILS
Air Cylinder CJ2 Series

Air Cylinder: Standard Type
Double Acting, Single Rod CJ2 series

HOW to Order ........................................................................................... P46
SpeCiﬁcationS .......................................................................................... P47
Construction ............................................................................................ P49
DimenSionS ............................................................................................. P50
DimenSionS Of Accessories (OptlonS) ..................................................... P63
Precautions .......................................................................................... P63_2
..~ W Air Cylinder: Standard Type
/ Double Acting, Double Rod CJ2W series
/._,-ﬁi]—": HOW 10 OFQ@E ++++e++erereereresmemsieiiiiisiiiisist ettt s ssess s s s ene s asasana P.64
A SPECIfICAtIONS +++w++rssrrserssrsssssessesssss e P.65
Construction ............................................................................................ P67
DimenSionS ............................................................................................. P68
Air Cylinder: Standard Type
;___ﬁ.\—;"‘i"# 4 Single Acting, Spring Return/Extend CJ2 series
= ) HOW tO OFQEE -+-+veevrererenrssssrenerrereeettttiitiiiitiiiiiiiiiiii e see e e e eeeeeeeees P.71
Specifications .......................................................................................... P72
ConStrUCtion ............................................................................................ P74
DimenSionS ............................................................................................. P75
Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod CJ2K series
HOW to order ........................................................................................... P88
Specifications .......................................................................................... P89
ConStrUCtion ............................................................................................ Pgo
DimenSionS ............................................................................................. P91
Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend CJ2K series
> HOW to Order ........................................................................................... P95
7 SpeCiﬁcationS .......................................................................................... P96
Construction ............................................................................................ P98
DimenSionS ............................................................................................. ng
M Air Cylinder: Built-in Speed Controller Type
> ' Double Acting, Single Rod CJ2Z series
HOW to Order ......................................................................................... P-1 07
SpeCiﬁcationS ........................................................................................ P1 08
COnStrUCtiOn .......................................................................................... P109
DimenSionS ........................................................................................... P-1 10

® 43-1



/?-’

N
—

Air Cylinder: Built-in Speed Controller Type

Double Acting, Double Rod CJ2ZW series

HOW tO Order .........................................................................................
SpeCificationS ........................................................................................
Construction ..........................................................................................
DimenSionS ...........................................................................................

Air Cylinder: Direct Mount Type

Double Acting, Single Rod CJ2R series

HOW tO Order .........................................................................................
SpeCificationS ........................................................................................
ConStrUCtion ..........................................................................................

Air Cylinder: Direct Mount Type

Single Acting, Spring Return/Extend CJ2R series

HOW to Order .........................................................................................
SpeCificationS ........................................................................................
ConStrUCtion ..........................................................................................
Dimensions ...........................................................................................

Air Cylinder: Direct Mount, Non-rotating Rod Type
Double Acting, Single Rod CJ2RK series

HOW to Order .........................................................................................
SpeCificationS ........................................................................................
Construction ..........................................................................................
DimenSiOﬂS ...........................................................................................

Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend CJ2RK series

HOW to Order .........................................................................................
Specifications ........................................................................................
COnStrUCtiOn ..........................................................................................
DimenSionS ...........................................................................................

Air Cylinder: With End Lock CBJ2 series

HOW to Order .........................................................................................
SpeCificationS ........................................................................................
ConStrUCtion ..........................................................................................
Dimensions ...........................................................................................
SpeCifiC PrOdUCt Precautions ................................................................

Auto SWltch Mountlng ................................................................................
Made to Order: Individual Specrncatlons ...................................................
Specrflc Product Precautlons .....................................................................




Combinations of Standard Products and Made to Order Specifications

CJ2 series

CJ2 CJ2K
(Standard type) (Non-rotating rod type)
@ : Standard Doubl N Sinal I Double acti Sinal .
© : Made to Order ouble acting ingle acting ouble acting ingle acting
O : Special product (Please contact SMC for details.) . Single rod Single rod . Single rod Single rod
— : Not available SihdleiedHotblel et (spring return) | (spring extend) Slndielioy (spring return) | (spring extend)
46 64 71 88 95
e Applicable
Specifications bore size 06 to 016 210, 216
Standard Standard [ ] o o [ ) [ ) o [ ]
06 to 016
D Built-in magnet ] [ o o (] (] ([
CJ20-00A | Air cushion 210, 016 (] — — — — —
10-, 11- Clean series™" 26 to 616 o @+ e 0 _ _ _
25A- Copper (Cu) and Zinc (Zn)-free*® 210, 816 [ ) O O O O O O
XB6 Heat resistant cylinder (-10 to 150°C)*3 4 O @) O O O O O
XB7 Cold resistant cylinder (-40 to 70°C)*3 4 26 to 216 @) O O O O O O
XB9 Low speed cylinder (10 to 50 mm/s)*4 O — — — — — —
XB13 Low speed cylinder (5 to 50 mm/s) 26 O — — — — — —
XC3 Special port position*2 4 26 to 216 O O — — O — —
Adjustable stroke cylinder/
Xcs Adjustable extension type** ©) o o o o o
Adjustable stroke cylinder/
XCo Adjustable retraction type*4 ©) ©) O
210,216
XC10 Dual stroke cylinder/Double rod type** ©) — O O @)
XC11 Dual stroke cylinder/Single rod type** @) — — — O — —
XC22 Fluororubber seal** © © @) O @) O O
06 to 616
XC51 With hose nipple O @) O O O @) O
XC85 Grease for food processing equipment O O O O O O O
210, 216
X446 PTFE grease O O O O O O O
X773 Short pitch mounting 06 — — ®) —_ — _ —
X2838 Double clevis (With one-touch connecting pin)*!! 210, 616 O — @) O O @) O
+1: Mounting type: Not compatible with the clevis type. #6: The shape is the same as the current product.
An auto switch is available in the band mounting type only. +7: Available only for locking at head end.
+2: An auto switch is available in the band mounting type only. +8: Available only for locking at rod end.
+3: The products with an auto switch are not compatible. #9: 910 and 16 only
+4: The products with an air cushion are not compatible. %10: Copper and fluorine-free [20-] are available as standard products.
«5: For details, refer to the Web Catalog. #11: Not compatible with the air cushion or rail mounting type auto switches.
® 44

O

SMC



CJ2 series

CJ2z CJ2R CJ2RK CBJ2 CJ2y CJ2Xx
(Built-in speed controller type) (Direct mount type) (Direct mount, Non-rotating rod type)| (With end lock)*¢ [Smooth Cylinder|Low Speed Cylinder
Double acting |Doubleacting| Single acting |Doubleacting| Single acting | Double acting | Double acting | Double acting CJ1
Single | Double | Single | Singlerod | Singlerod |q. Singlerod | Single rod . . .

rod rod rod (spring return) | (spring extend) SHalEicd (spring return) | (spring extend) Shglizied gz ied sl e CJ P

107 114 119 123 127 130 134 Best Pneumatics No. 2-3 | Best Pneumatics No. 2-3

[ J (] (] [ J [ J [ J (] (] [ J (] [ J Standard JCM
CM2

[ o (] [ J [ J [ J (] (] [ J o [ J D L
CM3

— — O — — — — — — — — CJ20-0A | ———
CG1

— — ([ J O O — — — o — — 10-, 11- PV
CG3

O O O O O O O O O O O 25A-
JMB

ol o] o|o|O0] O] O]O o — — XB6 MB

0 O o} o o 0 O O — — — XB7 MB1

— — — — — — — — O — — XB9 CA2

—_ —_ —_ —_ —_ —_ —_ —_ —_ —_ —_ XB13 Cs1

2

— — O — — O — — O © O XC3 &

O — O O O O O O — — — XC8

— — © O — O O — O © — XC9

O — O O O O O O — XC10

— — O — — O — — O — — XC11

O ©) © O O O O O O — — XCc22

©) O © © © © @) © — — — XC51

© © © © © O © © — — — XC85

@ @) © © © @) @) © — — — X446

— — — — — — — — — — — X773

— — — — — — — — — O O X2838
D-[
-X[]
Technical
Data

45 ®

O
:



Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

CJ2Z Series

210, 016

How to Order
] CJ221|6—6|0 z-[ []-[C

(et cDJ2ZBJ[16]-[60] |Z- —M9BW%——
9

With auto switch (Builtin magnet)T 1 é é é b
“ Mounting 9 Bore size 9 Cylinder standard stroke [mm)]
B Basic 10 10 mm Refer to “Standard Strokes” on page 108.
E Double-side bossed 16 16 mm
D Double clevis
L Single foot Q Head cover port location 6 Pivot bracket 6 Rod end bracket
M Double foot Perpendicular to Nil None Nil None
F Rod flange Nil P axis % N | Pivotbracketis shipped \' Single knuckle joint
G Head flange , together with the product. W Double knuckle joint
*: Foot/Flange brackets are shipped #: Only for the double clevis type T Rod end cap (Flat type)
together with the product, but not R Axial \\Q v *: Pivot bracket is shipped U Rod end cap (Round type)
assembled. \ together wnr the product, but +: Rod end bracket is shipped together
#: For double clevis, the product is not assembled. with the product, but not assembled.
perpendicular to the cylinder axis. = Refer to page 63 for the double knuckle
«: For double-side bossed, the joint (with one-touch connecting pin).
. product is perpendicular to the . .
a Auto switch cylinder axis. 9 Auto switch mounting type @ Made to Order
[ Nil [ Wwithout auto switch | . A Rail mounting Refer to page 108 for details.
Number of auto switches -
*: For applicable auto switches, @ - B Band mounting
refer to the table below. Nil 2 pcs.

*: For rail mounting, screws and
“* Enter the auto switch mounting type (A or B) S - 1" pC. nuts for 2 auto switches come
even when a built-in magnet cylinder without n n_pcs. with the rail.
an auto switch is required. : Refer to page 148 for auto
switch mounting brackets.

*

«. Refer to “Ordering Example of Cylinder Assembly” on page 108.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

" | s Wi Load voltage Auto switch model Lead wire length [m] Prosited
Type| Special function 2%:';5’ g (OL:;L;]L%) DG AC Band mounting Rail mounting 05| 1| 3|5 [Nong cor;n“e"éteor Applicable load
2 Perpendicular| In-line | Perpendicular| In-line | (Nil) |(M)| (L) | (Z) | (N)
3-wire (NPN) 5V 12V MONV | M9N MONV | MON ® e O —| O IC circuit
£ Grommet 3-wire (PNP) ' M9PV M9P MOPV | M9P ® @0 O|—| O
'§ o-wire 12V M9BV | M9B | M9BV | M9B ® ¢ O|—| O o
7 Connector — H7C J79C — o — 000 —
§ Di i indicati 3-wire (NPN) 5V 12V MONWV| MONW [MONWV| MONW | @ (@ ([®@ [ O|—| O IC circuit| Rela
Bl o Yes| 3-wire (PNP) |24 v|° — [mM9PWV| M9PW |M9PWV| M9PW | @ [@[@|O[—]| O oy,
(2-color indicator) : PLC
] 2-wire 12V M9BWV| M9BW [M9BWV| M9BW | ®@ @ @ O|—| O —
© ) Grommet 3-wire (NPN) MINAV*1| MONA*! IMINAV*'|MONA*'| O |O | @ |O|—| O .
=Y Vater resistant sieee) |2V 12V MOPAV*1| MOPA*' [M9PAVF'[MOPA*'| O |O | @ |O|—| o | ot
O | (2-color indicator) -
@ 2-wire 12V M9BAV*!| M9BA*! IM9BAV*'|M9BA*'| O |O | @ |O|—| O —
Wit diagnostc output (2-colorndicto 4-wire (NPN) 5V, 12V — H7NF — F79F ® — @ O|—]| O [ICcircuit
3-wire _
§ y (NPN equivlet)| — 5V —_ A96V A96 A96V A96 ® — ® —|—| — |ICcicut|] —
2 Grommet |~ — l200v [ — — A72 | A72H (@ |—|@®|—|—| — |
° e || 100V | A93V#2 | A93 | A93V#2| A93 ®  ©o 00— —
= No owire 12V 100V orless| A9QV A90 A90V A90 ® |—|®|—|—| — |[ICcircuit| Relay,
3 ConnectorE 24V — — C73C | A73C — o — 0o/ /06 — — PLC
2 No 24Vorless)] — C80C | As0C = ® |— ®@® ® — |(Ccirui
Diagnosicndcaon (2o0lr ndedo) | Grommet | Yes — — — — A79W = o — 0| — | —| — —

+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
*2: 1 m type lead wire is only applicable to D-A93.

*: Lead wire length symbols: 0.5 m --- Nil (Example) MONW
im - M (Example) MONWM
- L (Example) MONWL
#: Since there are other applicable auto switches than listed, refer to page 149 for details.
#: Solid state auto switches marked with “O” are produced upon receipt of order.
+: The D-A90/MILI/A70I/A800I/F700/J700 auto switches are shipped together, but not assembled. (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

Z (Example) MONWZ
- N (Example) H7CN

CJ1

CJP

JCM
cm2

CM3

CG1

CG3

e
we
et
e
os1
52

D-UJ
-XUJ

Technical
Data

107 ®




CJ2Z series

Space-saving air cylinder with
speed controller built-in cylinder
cover

Symbol
Double acting, Single rod, Rubber bumper

]
2

to
Mg?fer Made to Order: Individual Specifications

=g (For details, refer to page 150.)

Symbol
-X446 | PTFE grease

Made to Order

Click here for details
Symbol Specifications

Specifications

Specifications
Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°

c .
With auto switch: —10°C to 60°C (\° re€zing)

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 10

Speed controller Built-in

Piston speed

50 to 750 mm/s

Allowable kinetic energy

0.035J 0.090 J

Standard Strokes

[mm]

Bore size Standard stroke Maximum manufacturable stroke
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

x: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Mounti ng and ACCeSSOrieS rxipge iiotrlstofracets a page 6 fordtals bout par numbers andcmensions
—

-XAL] | Change of rod end shape
-XC51 | With hose nipple
-XC85 | Grease for food processing equipment

A\ Precautions

1 Refer to page 152 before handling. 1

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2ZD16-60Z-NW-M9BW-B

Double clevis

Pivot bracket

Auto switch
Band mounting

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

*: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

© 108

@:---Mounted on the product. O---Can be ordered within the cylinder model. A---Order separately.

. . Double |Double clevis
Mounting Basic Foot Flange clevis | [ Thaoel
2 | Mounting nut [ ] [ ) [ ) — —
2 |Rod end nut [ ] [ ] [ ) [ ] [ ]
& | Clevis pin (including retaining rings) — — — [ ] [ )
Single knuckle joint @) O O O ©)
5 Double knuckle joint (inclucing a pin and retaining rings) O O @) @) O
= | Double knuckle joint (With one-touch connecting pin) A A A A O
O |Rod end cap (Flat/Round type) @) ©) O @) @)
Pivot bracket (T-bracket) — — — O [ ]
*: Stainless steel mounting brackets and accessories are also available.
Refer to page 63-1 for details.
Mounting Brackets/Part No.
-
Bore size [mm]
Mounting bracket
10 16
Foot CJ-L010C CJ-Lo16C
Flange CJ-FO10C CJ-FO16C
Pivot bracket (T-bracket)*' CJ-To10C CJ-T016C

#1: The pivot bracket (T-bracket) is used with double clevis (D).

Refer to pages 142 to 149 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

* Operating range

 Auto switch mounting brackets/Part no.




Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Weights
[
Bore size [mm] 10 16
Basi iah Basic 36 61
(Vi\i/fllgnvﬁlg sttroke Axial piping. - - — 36 &1
is zero) Double'clews (including clevis pin) 40 68
Head-side bossed 37 63
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint
(including knuckjle pin) 25 21
) Double knuckle joint
Accessories (With one—touchjconnecting pin) 26 22
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
Pivot bracket (T-bracket) 32 50

#: Mounting nut and rod end nut are included in the basic weight.

*: Mounting nut is not included in the basic weight for the double clevis.
Calculation:
Example) CJ2ZL10-45Z

CJ2Z series

® Basic weight:«-.ooveeeeeinnens 36 (210)
® Additional weight -- 4/15 stroke
® Cylinder stroke 45 stroke
© Mounting bracket weight --- 8 (Single foot)
36+4/15x45+8=56¢g
Construction (Not able to disassemble)
45 a) 4 DA ©) /@
' Y /A4
-
= \‘,
With auto switch
Component Parts
No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy 12 | Rod end nut Rolled steel
2 | Head cover Aluminum alloy 13 | Piston seal NBR
3 | Cylinder tube Stainless steel 14 | Rod seal NBR
4 | Piston rod Stainless steel 15 | Check seal A NBR
5 | Piston A Aluminum alloy 16 | Check seal B NBR
6 | Piston B Aluminum alloy 17 | Tube gasket NBR
7 | Piston Aluminum alloy 18 | Needle seal NBR
8 | Bumper A Urethane 19 | Wear ring Resin
9 | Bumper B Urethane 20 | Check seal sleeve Aluminum alloy
10 | Speed controller needle Carbon steel 21 | Retaining ring Carbon tool steel
11 | Mounting nut Rolled steel 22 | Magnet —_

CJ1
CJP

o
o
o
oot
o6
e
we
et
e
os1
52

D-UJ
-XUJ

Technical
Data

109 @



CJ2Z series

Basic (B)

CJ2zB 12 - ’Stroke‘ ’Head cover port Iocation‘ Y4

1 |
) < -
WA WB
Y Mounting nut
Section Y detail
Rod end nut
WWO NN Eﬁ Piping port 2 x M5 x 0.8 GB Piping port M5 x 0.8
o, MM —_—
S aQ W
o S H..l A > @
os| | 7] Il
: il -
[/ ] [ [
0
.Buos | A Fl NaA NB B3, | Head cover port location
H S + Stroke ;Ahmal Ioﬁat:'o: (R)
#: The overall cylinder
Z + Stroke length does not change.
% For details of the mounting nut, refer to page 63. (mm]
Bore size A B C D F |[GA|GB | H MM NA | NB NDh8 NN WA |WB |WW| S Z
10 15 | 15 17 4 8 75 | 65 | 28 M4 x 0.7 21 18 83020 M8x1.0 | 144|135 | 45 63 91
16 15 | 183| 20 | 5 8 | 75|65 | 28 | M5x08 | 21 | 18 10900 | M10x1.0 | 144|135 45 | 64 | 92
Double-side Bossed (E)
10
CJ2ZE ;g - z
l l S é ]
= B
) < &1
Section Y detail WA WB
Rod end nut Y “ Mounting nut
NN\ GA Piping port 2 x M5 x 0.8 GB YY o Section YY detail
NN B
MM =
. GYeliNiEs CaY 8
o3 ¥ M,
P ywwal| = I
I | [\
A F | NA NB
H S + Stroke F
Z + Stroke
% For details of the mounting nut, refer to page 63.
[mm]
Bore size A B (% D F |GA|GB | H MM NA | NB NDh8 NN WA |WB WW| S y4
10 15 |15 | 17 | 4 8 | 75|65 | 28 | M4x07 | 21 | 18 89000 M8x1.0 |144|135| 45 | 63 | 99
16 15 [183| 20 | 5 8 | 75|65 | 28 | M5x0.8 | 21 | 18 | 10300, | M10x1.0 | 144|135 45 | 64 | 100

110



Air Cylinder: Built-in Speed Controller Type .
Double Acting, Single Rod CJ 22 Series

Double Clevis (D)

cJ2zD ]2 - [stroke| Z

l .
il 3 {
| = CJ1
) f 5 1 kel
Rod end nut WA LL CDHg*2%%° CJP
o H9™g L
NB Clevis pin (6Cdd9 5980 m
GA  Piping port 2 x M5 x 0.8 GB
MM O
: al |+ - 2 JCM
o &l 3 R /1 2 p—
3 Fet] : — w5 lomz
o T
o | 1 7
A NA CM3
H S + Stroke U CXio? —
Z + Stroke R cz3, CG1
ZZ + Stroke —
CG3
#: A clevis pin and retaining rings are included.
p g ring mml |JMB
Bore size A B C |CD|CX|CZ| D | GA|GB| H MM NA |NB| R U |[WA|WB|WW| S Z | ZZ
10 15 |15 | 17 | 33|32 |15 | 4 |75 |195| 28 | M4x07 | 21 | 31 | 5 8 |14.4|265| 45 | 63 | 99| 104 |MB
16 15 |183| 20 | 5 6.5 |183| 5 7.5 |245]| 28 M5x0.8 | 21 36 8 10 (144|315 | 45 | 64 | 102 | 110 ———
MB1
Single Foot (L) CA2
10 : —_
CJ2zL 16~ ]Stroke\ ’Head cover port Iocatlon\ Z CS1
e CS2
[ [
<>
Rod end nut WA AL
Y Mounting nut
F GA . o -
Cover surface MM NN Piping port 2 x M5 x 0.8 GB \N\N Piping port M5 x 0.8
- g\ﬁl T j
ﬁﬁ > 1 [~ o3
SN o2 P : ;
T Ao | — |
o Head cover port location
LX A Axial location (R)
LZ +: The overall cylinder length
X Y NA NB does not change.
H S + Stroke
Z + Stroke
2xelLC
Mounting hole
AN A
|
Y For details of the mounting nut, refer to page 63. (mm]
Boresize |A|B|C | D | F |GA/GB| H |[LB|LC|LH|LT|LX|LY|LZ] MM |NA|NB] NN WAWBWW| S | X|Y| Z D-U
10 15|15 |17 | 4 | 8 |75|65|28|15(45| 9|16|24 |165| 32 | M4x0.7|21 |18 | M8x1.0|144|135(45|63 | 5 | 7 |91 [
16 15 (183/20| 5 | 8 |7.5|6.5|28 |23 55|14 (23|33 |25 |42 |M5x0.8|21 |18 |MI0x10|144|135{45|64 | 6 | 9 | 92 'XD
Technical
Data

111



CJ2Z series

Double Foot (M)

cJ2zm 12 - [stroke| Z

0 &
M) l l S é l l
A< IS A
) L =
> s
WB
Rod end nut WA ¥ Mounting nut
% Mounting nut
NN —— /
F GA °
Cover surface A Piping port 2 x M5 x 0.8 GBF / NN W
MME ] &
- WA=t [& ] }
F i HiH -
) > —“ﬁ% Nz o3| |
§% - ﬂ A :H \l/\\) k[/\f H’ o
| :
LX i o B.ds
Lz Y| NA NB | Y| [ X
H S + Stroke
4xoLC LS + Stroke
/ Mounting hole Z + Stroke
Jan
;
Y For details of the mounting nut, refer to page 63. (mm]
Boresize |A|B|C |D|F |GA|GB| H |[LB|LC|LH|LS|LT|LX|LY|LZ] MM |[NA|NB|] NN WAWBWW S | X |Y |Z
10 15|15 (17| 4 | 8 |75|65|28 |15|45| 9|77 |1.6|24|165/32|M4x0.7|21 |18 |M8x1.0|144(135|/ 45|63 | 5 | 7 |103
16 15(183/20| 5 | 8 |7.5(6.5[28 |23 |55|14 |82 |23|33 |25 |42 |M5x0.8|21 |18 |[MI0x1.0|144(135| 45|64 | 6 | 9 [107
Rod Flange (F)
—
CJ2ZF 12 - ’Stroke‘ ’Head cover port Iocation‘ Z
[ [
wﬁ( ~ $ ? u
l l
% Mounting nut
Rod end nut WA AL
GA . . GB °
Cover surface MM NN ‘*L/W F’ \N(\N' o Piping port M5 x 0.8
)
s < g\ 1 PSR 3 - l@
S MOr G 8z BRI = B
N Hl 1 1 | 2
FT 0
2xoFC A FI Na NB B-03 | Head cover port location
FX Mourting hoe Axial location (R)
H S + Stroke )
FZ =: The overall cylinder length
Z + Stroke does not change.
Y For details of the mounting nut, refer to page 63. (mm]
Boresize | A| B | C | D | F |[FB|FC|FT | FX|FY |FZ|GA|GB| H MM |[NA|NB NN |WA/WB/WW| S | Z
10 15 | 15 17 | 4 8 |13 |45|16 |24 |14 |32 |75|65|28 | M4x0.7 |21 | 18 | M8x 1.0 |14.4|135]| 45 | 63 | 91
16 15 (183 20 | 5 8 |19 |55|23|33|20|42|75|65|28 | M5x08 |21 | 18 |[MIOx1.0|14.4|135| 45 | 64 | 92

112



Air Cylinder: Built-in Speed Controller Type .
Double Acting, Single Rod CJ 22 Series

Head FIang_je (G)

CJ22G ]9 - [stroke|Z

l l
i 3 ?
) 5 o
Rod end nut WA, | WB ¥ Mounting nut
”’h/c NN GA Piping port 2 x M5 x 0.8 GB NN Cover surface
% MM 1m / /
3 a T T ( |
% S i i
=2 & SHER - ”p@m oz
[11]
1 N R
B.s A F NA NB FT FX
H S + Stroke F FZ 2xoFC
Z + Stroke Mounting hole
¥ For details of the mounting nut, refer to page 63. (mm]
Boresize | A| B | C | D | F |FB|FC|FT |FX|FY |FZ|GA|GB| H MM |NA |NB NN |[WA|WBWW| S | Z
10 15 (15 | 17 | 4 8 |13 |45|16|24 |14 |32 |75|65|28 | M4x0.7| 21| 18 | M8x 1.0 |14.4|135| 45 | 63 | 99
16 15 [18.3| 20 | 5 8 |19 |55(23| 33|20 |42 |75|65|28 | M5x0.8 | 21 | 18 | M10x1.0|14.4(135| 45 | 64 | 100

113



CJ2 series
Dimensions of Accessories (options)

Single Knuckle Joint v roieasess ~~ Double Knuckle Joint waera: roieaseer ~ KNUCKIE PiN wateriar: stainiess steet

@NDH10 MM L oND hole H10 MM
Axis d9 \
| - 1 RR, CJ1
S e Hefip o - A p—
il ] i ol S, |cJP
NX=8! Ur'8% | As NX 87 urg? (Al r—
12 7 L1 12 7 Li m
[mm] [mm] [mm] JCM
i Applicable . I
Applcatle Partno. |‘esee | A1 | L | L1 | MM Aoplatle et ——
Part no. |\ e A:|Li| MM NDH10NX|R: | U+ Y-J010C 10 8 [152] 21 | Maxo7 Part no. |\ Dd9 (d|L|Liim]|t wlaing g CMZ
1-J010C| 10 | 8 |21 |M4x07|3.3%*¢|3.1| 8 | 9 Y-JO16C 16 11 [16.6| 21 | M5x0.8 CD-J010| 10 |3.33%0| 3 |152{1221.2/0.3| TypeC32 ——
1-J016C| 16 | 8 |25|M5x08| 5%*° |6.4|12(14 Partno. | NDd9 INDH10] NX | R: | Us 1Y-JO15| 16 | 500 |4.8|166(122]1.5(0.7| TypeC5 CM3
Y-J010C [3.372%%(3.30%8| 32 | 8 10 *: For q1.0, a'clevis p!n is divertgd. . —
Y-Jo16C 5:31823 5+8_045 65 | 12 10 «: Retaining rings are included with a knuckle pin. CG1
#: A knuckle pin and retaining rings are included. E
Double Knuckle Joint (With One-touch Connecting Pin) One-touch Connecting Pin for Double Knuckle Joint wiateriai: stainess steel 7MB
o ) A
=R o T o MB1
S|o MM ) i s f —
1 =| % 1 == g
b =< I ~ ( - oDd9 [» 10 bl
y -~ 1 A
s 205 g CS1
NXS2 A 24 \l * I
14.6 Uro? < . €S2
7 L+ e fx L
r
[mm] [mm]
Applicable Applicable
Part no. A A1 | Li| MM NDd9 | NDH10 | NX | R1 | U1 Part no. ey Dd9
Y-J10| 10 8 |21 | M4x07 | 3.3888 | 3.3'%* 32| 810 1Y-J10 10 3.35%
Y-J16| 16 11 | 21 | M5x0.8 | 52950 5% 16512 | 10 1Y-J16 16 Swi
Mounting NUt Material: Carbon steel ROd End NUt Material: Carbon steel
-
d —
DJ s
B e H,
Hs
[mm] [mm]
Applicable Applicable
Partno. |\ m e B1 | C1 d H1 Partno. "t B2 | C2 d H2
SNJ-006C 6 8 | 9.2 | M6x1.0 | 4 NTJ-006B 6 55| 6.4 |M3x05| 2.4 D D
SNJ-010C| 10 11 |12.7| M8x1.0 | 4 NTJ-010C| 10 7 |81 |M4x0.7]| 3.2
SNJ-016C| 16 14 |16.2| M10x10 | 4 NTJ-015C| 16 8 |92 | M5x08| 4 XD
SNKJ-016C*| 16 17 |19.6| Mi2x10 | 4
#: For @16 non-rotating type. (Use SNJ-016C for Technical
210 non-rotating type.) Data

63 ®



CJ2 series

PiVOt Bracket (T-braCket) C|eViS Pin Material: Stainless steel
(S + Stroke) | (U) TDH10 TN o L
s AR = mt L tm
pEab; : ~ P ‘ gl
I | L7 5
 S—— I e
12 4x0TC ﬁL‘? -] = ;8
N
| B
||: TK

v Appicable Incuded
Partno. i) D9 | d | L |Lyym) tetaning ring
[mm] CD-J010| 10 [3.33%0| 3 [152[122]1.2]0.3|TypeC32
Part no. | {PPICaR| 1| TDH10 | TH|TK|TN|TT|TU| TV/TW|TX | TY|TZ CD-2015| 16 | 535 |48|27|183)15]07 | TipeC
5ois CD-JAO10*| 10 [3.335% | 3 |182[152|1.2]0.3|TypeC 32

CJ-T010C 10 453.3% 29(18(31| 2| 9 [40(22|32|12| 8 N N N N

DT *: For 10 double clevis type, with air cushion
CJ-TO16C| 16 |55 5 |35(20(6.4(23|14(48(28(38|16|10 and built-in speed controller.
« A T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head bolt and spring *: Retaining rings are included with a clevis pin.
washer.

*: For dimensions of (U) and (S + Stroke), refer to the double clevis drawing on page 60.

One-touch Connecting Pin for Double Clevis waieriar stainiess steel Rod End Cap Material: Polyacetal

Il
J(]
|
.

oDd9

[mm]
Applicable
Part no. bore si Dd9 H L w
ore size
CD-J10 10 3.330% 13.4 13.2 4
CD-J16 16 Swiitey 18.2 195 5
Partno. | W1 | W2 Note
CD-J10 | 12 | 15 | Cannot be mounted on cylinders with air
CD-J16 | 15 18 | cushion, or rail mounting type auto switches.

«: Please pay attention to the applicable cylinder.

Round type/CJ-CRCI10]

Flat type/CJ-CFOIOD]

AL MM

) 1

Part no. Applicable

Flat type |Round type | boresize
CJ-CF006 | CJ-CR006 6 6|8 |11| M3x05| 5|8 | 6
CJ-CF010 | CJ-CRO10 10 8 |10 13| M4x0.7 | 6 |10
CJ-CF016 | CJ-CR016 16 1012 |15| M5x0.8 | 7 |12 |10

A D|L MM N R W

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size Single Double .
[mm] Foot Flange knuckle joint | knuckle joint* Mounting nut| Rod end nut
10 — — 1-JO10SUS | Y-JO10SUS — NTJ-010SUS
16 CJ-L016SUS | CJ-FO16SUS | 1-J016SUS | Y-JO16SUS | SNJ-016SUS | NTJ-015SUS

#: A knuckle pin and retaining rings are shipped together.

® 63-1



Dimensions of Accessories (Options) CJ 2 Series

Precautions \

Assembly Procedures

1. Double Clevis (With One-touch Connecting Pin) (CD-J[J)

2. Double Knuckle Joint (With One-touch Connecting Pin) (1Y-JCI)

Insert connecting pin through One-touch connecting pin Insert the connecting pin

the cylinder and pivot bracket. . E into the joint. - CJ1
- ‘IC 5 E : ﬁ\' I
. . . ol i ; s (a1
GJ2 Air cylinder (Clevis type) % ™ N, Double knuckle joint f( \CJ2 Air cylinder |G JP
- . S
Pivot bracket (T-bracket) b ' One-touch connecting pin ; !f m
: \S» Em —
e Rotate the connecting pin. o= E g JCM
_‘f - i E 9 Rotate the connecting pin. - I
A% | - A CM2
> . E 2 _
- | - CM3
e Assembly completed without tools. p— H _— —
;I ’ﬁ E e Assembly completed without tools. st CG1
v | o Al -
e i pf_f ) CG3
= The above mounting instructions are for downward-facing NS E o r——_
ports. Refer to the following for upward-facing ports. | JMB
How to Mount the Double Clevis (With One-touch Connecting Pin) \ MB
When connecting a double clevis cylinder to a pivot bracket (T-bracket), it is recommended that the pivot bracket (T-bracket) and the cylinder MB1
be connected with the one-touch connecting pin first, before fastening the pivot bracket. —
When connecting the cylinder after the pivot bracket (T-bracket) has been fastened, mount the cylinder according to the following procedure. CA2
AWarning AWarning cs1
For assembling the clevis type to the pivot bracket, ‘ * Perform the mounting within the following range. CS2

refer to the figure below.

1. Insert the double clevis (One-touch connecting pin)
from the direction in the figure.

When port is facing upward ‘

Pivot bracket (T-bracket)

Double clevis cylinder
2. Push the one-touch connecting pin into the cylinder body

(Double clevis) until it clicks and is firmly fastened.

Double clevis (One-touch connecting pin) CD-JCI

When port is facing downward ‘

Double clevis
(With one-touch

connecting pin) D D
el
o . Technical
* Attach the double knuckle joint within 180° (£90° from center). Other mounting methods are the same as the above. Data




CJ2 series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9C]
D-M9COIW
D-M9CIA
zHs Auto switch
| =
&3 E{ea— el
A 22 B
(24)
( ): Dimension of the D-M9UA.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-M9C1V
D-M9CIMV
D-M9CJAV
Auto switch
o —at Ly
A 20 B
(22)

( ): Dimension of the D-M9JAV.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-H70
D-H7OW
D-H7BA
D-H7NF
D-H7C
© Auto switch
=Hs <
4—»‘ -

142

Reed auto switch
<Band mounting>

D-A9]
=Hs Auto switch
~
o L NN
=t —
A 24.5 <§
(22)

( ): Dimension of the D-A96.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A91V

Auto switch

Ex 5

A 22 B

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C701/C80
D-C73CLI/C80C

Auto switch




Auto Switch Mounting CJ2 Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting> <Rail mounting>
D-MoC] D-A9C]
D-MoCIW
D-M9LIA Auto switch Auto switch CJ1
2 e === 2 = P
12.5 [12.5 A 235 | |.B 125 125 A 26 B m
(25.5) ‘ (23.5)
( ): Dimension of the D-M9DJA. ( ): Dimension of the D-A96. JCM
D-MoC1V D-A9C1V
D-M9LIWV CM2
D-MOLIAV Auto switch Auto switch CM3
! ! | . |
% SN iR =y % 4 v =y CG1
14.5 14.5 A 21.5 || B 125 12.5 A 235 || B
‘ (23.5) ‘ CG3
( ): Dimension of the D-M9IAV. JMT
D-F701/J79 D-A701/A80 MB
D-F7COW/J79W D-A73C/A80C —
D-F79F/F7BA Auto switch D-A79W Auto switch MB1
=== @ =
alP B A g |CS1
CS2
D-F70OV/F7TOWV D-A700H/A80H
D-F7BAV
D-J79C Auto switch Auto switch
2 S = e
g = S i
A B
D-J
-X[]

143



CJ2 series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Single acting type excluded) [mm

Auto switch Band mounting
model
D-M9[]
D-M9CIV DT D-C701
D-M9CIW D-A90 D-H7NF D-C80
D-M9CIWV D-A90IV D-H7OW D-C73C
D-M9JIA D-H7BA D-C80C
D-M9CIAV
Bore size A B A B A B A B
6 5.5(4.5) | 5.5(4.5) | 1.5(0.5) | 1.5(0.5) 1 1 2 2
2] (4] (8] [0] (7.5) (0) (8.5) (0.5)
10 (5)6 (5)6 (12 M2 15 1.5 25 25
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)2.5 2 2 3 3

*: The values in () are measured from the end of the auto switch mounting bracket.
*: The values in [ ] for bore size @6 are for the double rod type (CJ2W series).

[mm]
Auto switch Rail mounting
model D-F701/J79
D-F7O0W/J79W
o el D-F70V/F7OWY
NI D-F79F
D-M9CIW D-A90] D-A701
D-MOCIWV D-ASCIV D-J79C D-F7NT D-AS0 D-A79W
D-F7BA
DA D-F7BAV
D-M9JAV .
D-A7CH/A80H
D-A73C/A80C
Bore size A B A B A B A B A B A B
6 — — — — — — — — — — — —
10 4.5 4.5 0.5 0.5 3.5 3.5 8.5 8.5 3 3 0.5 0.5
16 5 5 1 1 4 4 9 9 3.5 3.5 1 1
*; Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height [mm]
Auto switch Band mounting
model
D-M9O] D-M9CIV D-H7O/H7OW
D-M9CIW D-M9CIWVv D-H7NF D-H7C D-C73C
D-M9CJA D-M9CJAV D-H7BA D-C80C
D-A9C] D-A9CIV D-C701/C80
Bore size Hs Hs Hs Hs Hs
6 15 16 15 18 17.5
10 17 18 17 20 19.5
16 20.5 21 20.5 23.5 23
[mm]
Auto switch Rail mounting
model
D-M9CI
it |BEES | ooy
-F70] 7 -F70
D-MOCIWV' | b k7B A/F79F D-F70WV D-J79C D-ATC] DeaTEs, D-A79W
D-M9CJA D-F7NT D-F7BAV D-A80 D-A80C
D-MODIAV | b A701H/A80H -
D-A90] :
D-A90IV
Bore size Hs Hs Hs Hs Hs Hs Hs
6 — — — — — — —
10 17.5 17.5 20 23 16.5 23.5 19
16 21 20.5 23 26 19.5 26.5 22

144



Auto Switch Mounting CJ2 Series

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/Single Acting, Spring Return Type (S)

Auto Switch Proper Mounting Position: Spring Return Type (S)
- Standard Type (CDJ21C11-[1SZ)
- Non-rotating Rod Type (CDJ2KOO[-1SZ)

- Direct Mount Type (CDJ2RO0OIO-1SZ) cJ1
- Direct Mount, Non-rotating Rod Type (CDJ2RKOI-[1SZ) mm] ——
FT—
Auto switch model Bpre dimensions B CJP
size 5109 st 10to15st | 16t030st | 31to45st | 46to 60 st | 61 to 75 st | 76 to 100 st | 101 to 125 st | 126 to 150 st e —
D-M9C] 6 — 12 21 25 39 — — — — 55 m
D-MOOIW/MOCIWV | 10 — 13 205 325 44.5 — — — — 6 —_—
D-MOTIA/MOTIAV [ ¢ — 125 21 33 45 51 75 93 105 65 | [JCM
6 12 12 21 25 39 — — — — 55 | ———
D-M9CIV 10 13 13 20.5 325 44.5 — — — — 6 CM2
16 12,5 12,5 21 33 45 51 75 93 105 65 | ———
6 — 8 17 21 35 — — — — 15 | ICM3
£| p-A91 10 — 9 16.5 28.5 405 — — — — 2 —
3 16 — 8.5 17 29 4 47 71 89 101 25 | |CG1
E 6 8 8 17 21 35 — — — — 15 | ———
=
&| D-A9OIV 10 9 9 16.5 285 405 — — — — 2 CG3
16 8.5 8.5 17 29 4 47 71 89 101 25 | ———
D-H7C/H7C 6 — 75 16.5 20.5 34.5 — — — — 1 JMB
D-H70OW/H7BA 10 — 8.5 16 28 40 — — — — 15 | ———
D-H7NF 16 — 8 16.5 285 405 46.5 70.5 88.5 1005 | 2 MB
D-C701/C80 6 — 8.5 17.5 21.5 35.5 — — — — 2 —
D-C73C 10 — 95 17 29 4 — — — — 25 | IMB1
D-C80C 16 — 9 17.5 29.5 415 47.5 71.5 89.5 1015 | 3 —
D-M9CI 10 — 115 19 31 43 - — - - 45 | |CA2
D-MOCTIW/MOCIWV =
D-MOUIA/MOTIAV | 16 - 11 19.5 315 435 495 735 91.5 1035 | 5 cS1
10 11.5 11.5 19 31 43 — — — — 45 | ———
D-MoCIV
16 11 11 19.5 315 435 495 735 915 103.5 5 CS2
10 — 7.5 15 27 39 — — — — 05 | ——
D-A9C)
16 — 7 15.5 275 39.5 455 69.5 87.5 995 | 1
10 75 75 15 27 39 — — — — 05
D-A9CIV
16 7 7 15.5 27.5 39.5 455 69.5 87.5 99.5 1
[=2
£| D-F70/F70V 10 105 105 18 30 42 — — — — 35
3| D-J79/479C
£| D-A70H/A80H
=| D-A73C/A80C 16 10 10 18.5 30.5 425 485 725 90.5 1025 | 4
o
D-F70O0W/J79W 10 - 10.5 18 30 42 - — - - 35
D-F7CIWV/F79F
D-F7BA/F7BAV 16 - 10 185 30.5 425 485 725 90.5 1025 | 4
10 — 15.5 23 35 47 — — — — 8.5
D-F7NT
16 — 15 235 35.5 47.5 535 775 95.5 1075 | 9
10 10 10 17.5 29.5 4.5 — — — — 3
D-A7C1/A80
16 95 9.5 18 30 42 48 72 90 102 35
10 — 7.5 15 27 39 — — — — 05
D-A79W
16 — 7 15.5 275 39.5 455 69.5 87.5 995 | 1

#: In the actual setting, adjust them after confirming the auto switch performance.

D-UJ
-XUJ

Technical
Data

145



CJ2 series

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/Single Acting, Spring Extend Type (T)

Auto Switch Proper Mounting Position: Spring Extend Type (T)
- Standard Type (CDJ200010-00TZ)
- Non-rotating Rod Type (CDJ2KOOO-ITZ)
- Direct Mount Type (CDJ2ROOO-TZ)

- Direct Mount, Non-rotating Rod Type (CDJ2RKOIO[-C1TZ)

[mm]

) Bore B dimensions
Auto switch model X A
size 5t09 st 10to15st | 16t030st | 31to45st | 46to 60 st | 61 to 75 st | 76 to 100 st | 101 to 125 st | 126 to 150 st
D-M9O] 6 55 — 12 21 25 39 — — — —
D-MOCOW/MOCIWV | 10 | & — 13 20.5 32.5 44.5 — — — —
D-M9TIA/MOTIAV 16 | 65 — 125 21 33 45 51 75 93 105
6 55 12 12 21 25 39 — — — —
D-M9CIV 10 |6 13 13 20.5 325 445 — — — —
16 | 65 125 125 21 33 45 51 75 93 105
6 15 — 8 17 21 35 — — — —
2| p-A9D 10 | 2 — 9 165 285 405 — — — —
3 16 | 25 — 8.5 17 29 41 47 71 89 101
£ 6 | 15 8 8 17 21 35 - - — —
8| D-A9CIV 10 | 2 9 9 165 285 405 — — — —
16 | 25 85 8.5 17 29 41 47 71 89 101
D-H7C/H7C 6 1 — 7.5 16.5 20.5 34.5 — — — —
D-H7COW/H7BA 10 | 15 — 85 16 28 40 — — — —
D-H7NF 16 | 2 — 8 165 28.5 405 465 705 88.5 1005
D-C701/C80 6 2 — 8.5 175 21.5 35.5 — — — —
D-C73C 10 | 25 — 95 17 29 41 — — — —
D-C80C 16 | 3 — 9 175 29.5 415 475 715 89.5 1015
D-M9O] 10 | 45 — 15 19 31 43 — — — —
D-M9CIW/MOCIWV
D-M9TIA/MOIAV 16 5 — 11 19.5 31.5 43.5 49.5 73.5 91.5 103.5
10 | 45 1.5 15 19 31 43 — — — —
D-M9CIV
16 | 5 11 1 195 315 435 495 735 915 1035
10 | 05 — 75 15 27 39 — — — —
D-A90
16 | 1 — 7 155 275 395 455 69.5 87.5 99.5
10 | 05 75 75 15 27 39 — — — —
D-A9C1V
16 | 1 7 7 15.5 27.5 395 455 69.5 87.5 995
(o)}
£| D-F70/F70V 10 | 35 10.5 10.5 18 30 42 — — — —
3| D-J79/J79C
£ | D-A7CJH/A80H
=| D-A73C/A80C 16 | 4 10 10 185 30.5 425 485 72,5 90.5 1025
o
D-F70O0W/N79W 10 35 — 10.5 18 30 42 — — — —
D-F7OWV/F79F
D-F7BA/F7BAV 16 | 4 — 10 185 30.5 425 485 725 90.5 1025
10 | 85 — 155 23 35 47 — — — —
D-F7NT
16 | 9 — 15 235 355 475 535 775 955 1075
10 |3 10 10 175 295 415 — — — —
D-A7C1/A80
16 | 35 95 95 18 30 42 48 72 ) 102
10 | 05 — 75 15 27 39 — — — —
D-A79W
16 | 1 — 7 155 275 395 455 69.5 87.5 995

#: In the actual setting, adjust them after confirming the auto switch performance.

146



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CJ2 Series

[mm]
A itch Number of auto switches
uto SW.“C Auto switch model - With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. = =
Different surfaces| Same surface Different surfaces Same surface
D-M9O _
D-M9CIW 10 15 45+ 15+35(1>2) 45+15(n—2) CJ1
D-M9CJA %3 (n=2,3,4,5...) e —
D-A9] (n=2,4,6...) P CJP
n-2
D-M9CIV 5 1551 35 15+ SS(T) 35+25(n-2) I
(n=2,4, 6...)*3 (n=2,3,4,5..)
D-MOCIWV 10 15+ - 15 + 35“‘2;2) 35+ 25 (n-2) ——
D-M9CIAV (n=2.4,6.)% (n=2,34,5..) JCM
i 10+35(0=2) 35+25(n—2
Band mounting | p-a9mv 5 10 35 + 2 +25(n-2) CM2
_ %3 (n=2,3,4,5..)
(n=2,4,6...) L
D-H7C/H7OW 154 4500=2) 60 +22.5 (N - 2) CM3
D-H7BA 10 15 60 2 =03 45
D-H7NF (n=2,4,6..)%3 (n=2,3,4,5..)) L
D-C70 15+40M 50 +20 (n-2) CG1
10 15 50 2 —
D-C80 %3 (n=2,3,4,5..)
(n=2,4,6..) CG3
D-H7C (n—-2) _
D-C73C 10 15 65 15+5075 Sr?f 227\;’5‘(1” : 2) —
D-C80C (=2 46..)3 (n=2,34,5.) JMB
- _ _ 10+10(n-2) —
D-M9oCIV 5 5 (n=4,6..) MB
D-A9C1V 5 _ 10 _ 10 J: 15 (n —*%) I
(n=4,6...)
D-M9OI 10 (5)*5 _ 10 _ 15+15(n-2) MB1
D-A90] (n=4,6..) —
D-M9CIWV 10 B 15 _ 15+ 15 (n—2) CA2
D-M9CIAV (n=4,6...)" L
D-M9CIW 15 (10)* — 15 - 20415 ~2) CS1
(n=4,6...)
Ll %5 _ *5 _ 20+ 15 (n - 2)
D-M9CJA 15 (10) 20 (15) (n=4,6.)4 csz
D-F700 5 _ 5 _ 15+15(n-2)
Rail mounting | D-J79 (n=4,6...)"
D-F700V 5 . 5 _ 10+10(n-2)
D-J79C (n=4,6...)"
D-F7CO0W/J79W 10 _ 15 _ 15+20(n-2)
D-F7BA/F79F/F7NT (n=4,6...)*
D-F7O0WV 10+15(n-2)
D-F7BAV 10 - 15 - (n=4,6.)4
D-A7C1/A80
D-A7CJH/A80H 5 — 10 — ‘(ﬁ +io0 ‘)*%)
D-A73C/A80C e
D-A7CH . _ 15+15(n-2)
D-A80H 5 10 (n=4,6..)
_ _ 10+15(n-2)
D-A79W 10 15 (n=4,6..)
=3: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
=4: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n” is 1 to 3.
=5: The dimension stated in () shows the minimum mountable stroke when the auto switch does not project from
. . the end face of the cylinder body and the lead wire bending space is not hindered.
*1: Auto switch mounting
With 2 auto switches
Different surfaces™! Same surface*!
|
. ]
Auto switch model Auto switch
D-M9C(V
D-M9CIW(V)
D-M9CIA(V)
The proper auto switch mounting position is 5.5 mm inward | The auto switch is mounted by slightly displacing it in a direction D'D
from the switch holder edge. The above A and B indicate values (cylinder tube circumferential exterior) so that the auto switch —
for band mounting in the table of page 144. and lead wire do not interfere with each other. 'XD
D-M9TI/MOIW/M9OLIA Less than 20 stroke*? Less than 55 stroke*2
D-A90J — Less than 50 stroke*? Technical
#2: Minimum stroke for auto switch mounting in types other than those mentioned in *1. Data

147



CJ2 series

Operating Range Auto Switch Mounting Brackets/Part No.
[mm]
Auto switch model Bore size AL_HO . Bore size [mm]
6 | 10 | 16 switch | Auto switch model
D'MQD/MQDV mounting 6 10 16
| D-MOOW/MOCIWV 2 25| 3 D-M9L]
% D-MOCIA/MOLIAV D-MOCIV
3|D-A9C] 45 | 6 7 D-M9CIW BJ6-006 BJ6-010 BJ6-016
_g D-H7O/H7COW 3 4 4 D-M9CIWV (Asetofa,b,d,f) (Asetofa,b,c,d) (Asetofa,b,c,d)
S |D-H7BA/H7NF D-A90]
0 5
D-H7C 5 | 8|09 D-A90IV
D-C701/C80/C73C/C80C | 6 7 7 D-M9IA *2 BJ6-006S BJ6-010S BJ6-016S
D-M9CI/MOCIV D-M9[IAV*? (Asetofa,b,d, g) | (Asetofa,b,d,e) | (Asetofa,b,d,e)
D-M9CIW/M9CIWV — | 3 35 - -
D-M9LIA/MSTIAV Band o Foutch brackel (Resi) > %
fing ransparent (Nylon)
2 D-A9LVA9LIV — | 6 | 65 moun f | Transparent blue (Nylon)*! e
§ D-F70/J79/F7T0OW/J79W e | White (PBT)
g D-F70OV/F7OWV/F79F _ |5 5 g |Black (PBT)
= |D-J79C/F7BA/F7BAV
& |D-F7NT d
Sarscn o | e |
D-A79W — |11 |13 : a
#: Values which include hysteresis are for guideline [ Auto switch mounting band |
purposes only, they are not a guarantee T
(assuming approximately £30% dispersion) and -H70/H70
may change substantially depending on the Band | D-H7BA/H7NF BJ2-006 BJ2-010 BJ2-016
ambient environment. mounting| D-C7C1/C80 (A set of band and (A set of band and (A set of band and
D-C73C/C80C screw) screw) screw)
BQ2-012 (S) BQ2-012 (S)
(A set of a and b) (A set of a and b)
D-M9C1 Set screw
D-MoCIV Accessory
a D-M9CIW
Rail D'M9DWV*4 _ BQ2-012
mounting D-MSTIA BQ2-0128 ™™ ' w\.s,
D-M9IAV*4 / >
D-A90]

b
D-A9CIV Auto switch
mounting screw

Nut (Cylinder accessory)

x1: Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be
used. Please contact SMC regarding other chemicals.

x2: As the indicator LED is projected from the auto switch unit, indicator LED may be damaged if
the switch bracket is fixed on the indicator LED.

*3: When the cylinder is shipped, the auto switch mounting bracket and the auto switch will be
included.

x4: For D-M9OIA(V), order the BQ2-012S, which uses stainless steel mounting screws.

Band Mounting Brackets Set Part No.

Bore size [mm]

Set part no. Contents = E -
BU2:000 | [0 ich mouniing scrow ) B2:006 | BJ2010 | Bu2-0t
BJ4-1 - Suieh Eg?ggf; c(i\)Nhite/PBT) © - S .
BJ4-2 - Suieh EL?SZ?} él)?alack/PBT) © R - -
BJ5-1 : gmzn ELT;Z?} c(i')l'ransparent/Nonn) © - " -
BJ5-2 g\x:ttzn l:]gzl;ert(g ransparent blue/Nylon) (f)*' . - -

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)
BBA4: For D-C7/C8/H7 types
+5: Refer to page 1682 for details on the BBA4.
When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.

148



Auto Switch Mounting CJ2 Series

[ s s s s e e e e e e e e e e e e - ——————
1 Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. |
I Referto pages 1575 to 1701 for the detailed specifications. 1
1 . . Applicable 1
I Type Mounting Model Electrical entry Features A - I
I . D-H7A1/H7A2/H7B — 1|CJ1
1 Band mounting - — — 26 to 216 1
D-H7NW/H7PW/H7BW Grommet Diagnostic indication (2-color indicator) —
: Sold state D-F79/F7P/J79 (In-line) — cJP
. A D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) e
1 Rail mounting 210, 616 1
I D-F7NV/F7PV/F7BV Grommet - 1
1 D-F7NWV/F7BWV (Perpendicular) | Diagnostic indication (2-color indicator) I
D-C73/C76 —
1 Band mounting - — - o6 too16 1 JCM
1 D-C80 Grommet Without indicator light 1 —
1 Reed D-A73H/A76H (in-ine) — 1 |CM2
1 . . D-A80H Without indicator light 1 —
1 Rail mounting 010, 616 1
" D-A73 Grommet — CM3
I D-A80 (Perpendicular) Without indicator light —
[ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649. : CG"
«: Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to page 1593. 1 —
Technical
Data

149



CJ2 series

Made to Order: Individual Specifications

Contact SMC for detailed specifications, delivery and prices.

n PTFE Grease
Applicable Series

Description Model Action Note

cu2 Double acting, Single rod

Standard type Single acting (Spring retum/extend)

CJ2W | Double acting, Double rod

- i Double acting, Single rod
Non-rotating rod CJ2K 9 9

type Single acting (Spring retum/extend)

Built-in speed CJ2Z | Double acting, Single rod

controller type CJ2ZW | Double acting, Double rod

Double acting, Single rod

Direct mount type | CJ2R
yp Single acting (Spring retum/extend)

Direct mount Double acting, Single rod
un, CJ2RK [——— 2
Non-rotating rod type Single acting (Spring return/extend)

How to Order
Standard model no. |- X446

PTFE greasel

150

Symbol
-X446

Specifications: Same as standard type
Dimensions: Same as standard type

= When grease is necessary for maintenance, grease pack is available,
please order it separately.
GR-F-005 (Grease: 5 g)

A Warning

Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is haz-
ardous to humans.



Made to Order: Individual Specifications CJ 2 Series

EShort Pitch Mounting/Single Acting, Spring Return

Mounting pitch is shortened when cylinders are used in parallel.
W Changes rod cover and head cover dimensions to 7.
B Shortens the full length with a head cover integrated with a barb fitting.

Symbol
-X773

v Application
example CJP
T T #: Directly mounted with cylinder e .
Ijl %j mount?;]g screws y Verification of push CM3
button actuation for
7. .

L_75mm = mobile phones etc. CG1
Applicable Series Specifications L
Description Model Action Note Bore size [mm] 6 JMB
Standard type CJ2 | Single acting (Spring return) Action Single acting, Spring return L

Operating pressure range 0.2t0 0.7 MPa MB
How to Order Port size With g4 barb fitting (For soft tube) e—
Connecting port location Head cover/Axial direction MB-I
CJ2B6 - SU4zZ - X773 Stroke [mm] 51060 MBT
IShort pitch mounting/ Auto switch None CA2
Single acting, spring return —
Dimensions
2 Be sure to use a g4 or 92.5
°3 urethane tube (TU0425) or
: a soft nylon tube (TS0425). [mm]
Stroke 5to 15 |16 to 30|31 to 45|46 to 60
M3 x 0.5 M6 x 1.0 Air exhaust port S 30.5 39.5 435 57.5
o \ & 4 63.5 72.5 76.5 90.5
‘W_L A Note
¢:t i §= NI Ei 1. When mounting a cylinder, make sure that the
% air exhaust port on the rod cover is not blocked.
15 8 |3 2. When mounting a cylinder, apply thread locking
28 S + Stroke 5 adhesive on the threaded part and hold the
Z + Stroke external diameter of the rod cover with a needle-
+ nose pliers or regular pliers.
Technical
Data

151



CJ2 series

Symbol
B Double Clevis (With One-touch Connecting Pin) -X2838

With pivot bracket (T-bracket) and one-touch connecting pin
Not necessary to order a bracket for the applicable cylinder separately.

Applicable Series
Applicable Cylinders (Double Clevis Type)
Series Bore size [mm] Type Model Action Note
Standard CJ2D : : Dout?le acting, Single rod Cannot be mounted on
CJ2D 10. 16 CJ2Db Single acting, Single rod (Spring return/extend) cyIinQers with'air .
' Non-rotating| CJ2KD Double acting, Single rod cushion, or rail mounting
rod type CJ2KD | Single acting, Single rod (Spring return/extend) type auto switches.

How to Order

Example) CDJ2D10-60Z-N-M9BW-B-X2838 One-touch
connecting pin
. . . «

With one-touch connecting pin &;

«: The pivot bracket (T-bracket) and one-touch I \
connecting pin are shipped together. Refer to i , -
page 63-2 for assembly instructions. = )

o Pivot bracket (T-bracket) | X
Nil None Cylinder [
N Pivot bracket is shipped together with
the product, but not assembled. 1
_—
e Double clevis type \5“ b

Pivot bracket -
(T-bracket) N

Specifications: Same as standard type

Dimensions

cJ2D ]2 [ stroke |Z- (N) —x2838

=: Refer to page 63-2 for assembly procedures and mounting methods.

Z+Stroke

- N s
el
R 5 A T =

D)
W

[mm]

Applicabl
ppice®el H L |TH| TV |TW | Z .« The pivot bracket (T-bracket)

bore size is th
10 1341132 29 | 40 | 22 | &2 is the same as the standard
type. Refer to page 63-1 for
16 18.2|19.5| 35 | 48 | 28 | 85 details.

® 151-1



CJ2 series

Ak

Specific Product Precautions

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

\ Mounting \

A Warning

1. Use within the specified cylinder speed and
kinetic energy ranges.

Otherwise, cylinder and seal damage may occur.

2.Do not apply excessive lateral load to the
piston rod.
Easy checking method
Minimum operating pressure after the cylinder is mounted to
the equipment (MPa) = Minimum operating pressure of
cylinder (MPa) + {Load weight (kg) x Friction coefficient of
guide/Sectional area of cylinder (mmg2)}
If smooth operation is confirmed within the above value, the
load on the cylinder is the resistance of the thrust only and it
can be judged as having no lateral load.

3.Do not open the cushion needle after rotat-
ing it numerous times in a row. Though un-
common, there are cases in which the cush-
ion needle may leak air.
The cushion needle should be adjusted by gradually opening it
while checking the operation of the cylinder cushion.

A Caution

1. During installation, secure the cover on the
tightening side and tighten by applying an
appropriate tightening force to the retaining nut
or to the cover on the tightening side.

If the cover on the opposite side of the tightening side is secured
or tightened, the cover could rotate, leading to the deviation.

2. Tighten the retaining screws to an appropriate
tightening torque within the range given below.

26:2.1t02.5N-m, 10: 5.9t0 6.4 N-m
216:10.8t0 11.8 N-m

3. To remove and install the retaining ring for the
knuckle pin or the clevis pin, use an appropriate
pair of pliers (tool for installing a type C
retaining ring). In particular, use a pair of ultra-
mini pliers for removing and installing the
retaining ring on the 310 cylinder.

4.In the case of auto switch rail mounting type,
do not remove the rail that is mounted.
Because retaining screws extend into the
cylinder, this could lead to an air leak.

5. Please contact SMC when the stroke exceeds
100 mm for the axial foot mounting type.

<Precautions on the single acting cylinder>

1) Do not operate it in such a way that a load would be applied
during the retraction of the piston rod of the spring return type,
or during the extension of the piston rod of the spring extend
type. The spring that is built into the cylinder provides only
enough force to retract the piston rod. Thus, if a load is applied,
the piston rod will not be able to retract to the end of the stroke.

2) A breather hole is provided in the cover surface. Make sure not to
block this hole during installation, as this could lead to a malfunction.

<Precautions on the non-rotating cylinder>

1) Tighten the retaining screws to an appropriate tightening
torque within the range given below.
210: 10.8t0 11.8 N-m, g16: 20 to 21 N-m

2) Do not operate it in such a way that rotational torque would be
applied to the piston rod. If rotational torque is applied, the
non-rotating guide will become deformed, thus affecting the
non-rotating accuracy.

210 216

Allowable rotational torque [N-m]

0.02 0.04

3) To screw a bracket onto the threaded portion at the tip of the
piston rod, make sure to retract the piston rod entirely, and
place a wrench over the flat portion of the rod that protrudes.
To tighten, take precautions to prevent the tightening torque
from being applied to the non-rotating guide.

CJ1
CJP

Jem
o
o
oot
o3
me
we
VB
o2
os1
o2

D-UJ
-XUJ

Technical
Data

152 ®



